
 
OPERACIONS 
 
a)	
  3467	
  -­‐	
  678=	
  3467	
  (minuend)	
  –	
  678	
  (subtrahend)=	
  
diferència	
  
b)	
  Fes	
  la	
  prova	
  de	
  la	
  resta:	
  diferencia	
  +	
  subtrahend	
  =	
  minuend	
  
	
  
c)	
  2947X36=	
  
	
  
d)	
  4569	
  X	
  307=	
  	
  
	
  
e)	
  89543:	
  2=	
  89543	
  (dividend):	
  2	
  (divisor)=	
  quocient	
  
	
  
e)	
  Fes	
  la	
  prova	
  de	
  la	
  divisió:	
  quocient	
  x	
  divisor	
  +	
  residu=	
  
dividend	
  
	
  
OPERACIONS ADAPTADES 
 
a)	
  3467	
  -­‐	
  678=	
  
	
  
b)	
  2947X3=	
  
	
  
c)	
  4509	
  x12=	
  
	
  
d)	
  5678+45+	
  389=	
  
	
  
e)	
  2345-­‐	
  478=	
  
	
  
OPERACIONS MÉS ADAPTADES 
 
a)	
  3467	
  -­‐	
  245=	
  
	
  
b)	
  254+	
  2+	
  15=	
  
	
  
c)	
  204X2=	
  
	
  
d)	
  326x2=	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  e)2345-­‐324=	
  



CORRECCIÓ 
 


